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= Ab H 2022 237 2U AT AES FEISAH ( 2022-7632-7-0001 ) FANES A& 22| -26159
e A2 E | T Gkt E2(H/F) 122 (H/F) | 2852 (H/F) |38-2(H/F) |48 (H/F) (228 (H/F) [6822(H/F)
- NI Gt 3 (A/=) TESE(H/F) [8H-S(H/F) (9222 (H/F) [1082H(H/F)NEBSSH(H/F) |28+ (H/F)
12-01-5-00000400-1-6 |(01|§/\| -2% )ELOIE,400mm=6m 1,105,940 6/6 0/0 0/0 0/0 0/0 3/3 3/3
1 @Es2HUH HZASXSMEE, SEtd=EE2 = 6,635,640 / 6,635,640 0/0 0/0 0/0 0/0 0/0 0/0
12-01-7-00000080-1-6 |(01|E/\| 3Z )EtOIE,80mm*6m 168,860 /1 0/0 0/0 0/0 0/0 1/1 0/0
2 BsZHUH HZASX2MEE, SEIL=EHE2 = 168,860 / 168,860 0/0 0/0 0/0 0/0 0/0 0/0
12-01-7-00000100-1-6 |(01|E/\| -33)ELOIE, 100mm=6m 208,960 1/1 0/0 0/0 0/0 0/0 0/0 0/0
3 (BEZ)UH HZAI=XZ2MCE, dEtd=HE 2 = 208,960 / 208,960 1/ 1 0/0 0/0 0/0 0/0 0/0
12-01-7-00000200-1-6 |(01|E}\|—3’<)EFOI§,EOOmm*6m 424,450 /1 0/0 0/0 0/0 0/0 1/ 1 0/0
4 (BEZ)UH HZAIX2MEE, dEtd=FHE 2 = 424,450 / 424,450 0/0 0/0 0/0 0/0 0/0 0/0
22-01-8-00800045-3-0 |B§_—i,80mm *45" " 31,050 2/ 12 0/0 0/0 0/0 0/0 2/2 0/0
5 SHEL0IE 2 K. PA 3= 24H(BPF) H 62,100 / 372,600 0/ 10 0/0 0/0 0/0 0/0 0/0
22-01-8-01000045-3-0 |B§1,100mm *45 39,330 6/6 0/0 0/0 0/0 0/0 0/0 0/0
6 SHEF 0l & 2 K. PA 3= 2H(BPF) H 235,980 / 235,980 6/6 0/0 0/0 0/0 0/0 0/0
22-01-Y-02000045-3-0 |B§1(L§§),200mm*45(DDHE§.*) 105,225 4/ 4 0/0 0/0 0/0 0/0 4/ 4 0/0
4 SHEF 0l & 2 K. PA 3= 2H(BPF) H 420,900 / 420,900 0/0 0/0 0/0 0/0 0/0 0/0
22-01-Y-04000045-3-0 |B§1(L§),400mm*45(DDH_.H_§.*) 327,750 15/ 15 0/0 0/0 0/0 4/ 4 5/5 6/6
8 SHEF 0 E 2 K. PA 3= 2H(BPF) H 4,916,250 / 4,916,250 0/0 0/0 0/0 0/0 0/0 0/0
22-02-8-01500100-3-0 |B§*,150*100mm(DDH£§!) 100, 050 /1 0/0 0/0 0/0 0/0 0/0 0/0
9 SHEF0IE 2, AN IX| TS 2H(BPF) H 100,050 / 100,050 1/1 0/0 0/0 0/0 0/0 0/0
22-02-8-02000080-3-0 |B§,200mm*80mm(DDHE§.) 125,925 2 /2 0/0 0/0 0/0 0/0 1/1 1/1
10 SHEF0IE 2, AKX TS 2H(BPF) I 251,850 / 251,850 0/0 0/0 0/0 0/0 0/0 0/0
22-02-8-02000100-3-0 |B§§,200mm*100mm(m Hizsh) 132,825 /1 0/0 0/0 0/0 0/0 0/0 0/0
i SHEL0IE 2, AN IXITE 2H(BPF) I 132,825 / 132,825 1/1 0/0 0/0 0/0 0/0 0/0
22-02-8-04000400-3-0 |B§,400*400mm(EIDHE§!) 534,750 1/1 0/0 0/0 0/0 1/1 0/0 0/0
12 SHEL0IE 2, AN IXITE 2H(BPF) I 534,750 / 534,750 0/0 0/0 0/0 0/0 0/0 0/0
22-04-0-00000400-3-0 |%’§,400mm 50,740 6/6 0/0 0/0 0/0 0/0 0/0 0/0
13 SEOIE R, KPEERS ] 304,440 / 304,440 0/0 6/6 0/0 0/0 0/0 0/0
22-04-2-00000080-3-0 |E—C|'—%',80mm 1,390 6/6 0/0 0/0 0/0 0/0 6/6 0/0
14 SEL0IE2, K.PEERS H 8,340 / 8,340 0/0 0/0 0/0 0/0 0/0 0/0
22-04-2-00000100-3-0 |__’L—C|'—%' 100mm 1,550 17 /17 0/0 0/0 0/0 0/0 0/0 0/0
15 SEIZ0|E2, KPEERS H 26,350 / 26,350 17 /17 0/0 0/0 0/0 0/0 0/0
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o M =2 & | S = S5 (H/=) 1242 (H/2) 2822 (M/F) (3242 (H/F) [48422(H/2) [FRL2(H/Z) |62 2(F/F)
- NN = =2 S%(E/=) TRLE(H/Z) 8R4 (H/F) |92L(N/F) [10R22H(H/E) A 2(H/Z)|[122 42 (H/F)
22-04-2-00000150-3-0 |I1_—‘?'—%',15Omm 2,080 0/ 10 0/0 0/0 0/0 0/0 0/0 0/0
SIEFOIE R, K.PEEIRS H 0 / 20,800 0/ 10 0/0 0/0 0/0 0/0 0/0
22-04-2-00000200-3-0 |I1_—E.’—%'>',200mm 2,750 15/ 15 0/0 0/0 0/0 0/0 15/ 15 0/0
SHEIOIE R, K.PEEIRS H 41,250 / 41,250 0/0 0/0 0/0 0/0 0/0 0/0
22-04-2-00000400-3-0 |I1_—C.‘—_%'3',400mm 5,900 63 / 63 0/0 0/0 0/0 0/0 0/0 30 /30
SHEIOIE R, K.PEERS b 371,700 / 371,700 33 /33 0/0 0/0 0/0 0/0 0/0
22-04-3-00240085-3-0 |§§,24*85 1,620 100 / 150 0/0 0/0 0/0 0/0 0/ 0 10/ 10
SHEFOIE R, K.PEERS o 162,000 / 243,000 0/ 50 0/0 0/0 0/0 0/0 0/0
22-04-3-00240105-3-0 |§§,24*1o5 1,638 630 / 630 0/0 0/0 100 / 100 100 / 100 100 / 100 330 / 330
SIElAOIE R, K.PEEIRS o 1,031,940 / 1,031,940 0/0 0/0 0/0 0/0 0/0 0/0
22-05-0-00800300-3-0 |80mm*L300 (2F)(DPIHEE) 34,672 0/3 0/0 0/0 0/0 0/0 0/0 0/0
SIELAOIE 2, 2FCHEH(BPF) H 0 / 104,016 0/3 0/0 0/0 0/0 0/0 0/0
22-05-0-00800500-3-0 |80mm*L5OO (2F)(DPOH L&) 43,987 1/1 0/0 0/0 0/0 0/0 1/1 0/0
SIELAOIE @, 2FCHEH(BPF) H 43,987 | 43,987 0/0 0/0 0/0 0/0 0/0 0/0
22-05-0-01000300-3-0 |100mm*L300 (2F)(DPIHE 8) 39,744 0/3 0/0 0/0 0/0 0/0 0/0 0/0
SIELAO|E @, 2FCHEH(BPF) H 0/ 119,232 0/3 0/0 0/0 0/0 0/0 0/0
22-05-0-01000500-3-0 |100mm*L5OO (2F)(DPIHE 8) 51,060 3/3 0/0 0/0 0/0 0/0 0/0 0/0
SHEbAO| B, 2FCEHEH(BPF) H 153,180 / 153,180 3/3 0/0 0/0 0/0 0/0 0/0
22-05-0-04000500-3-0 |400mm*L5OO (2F) (DPIHE 8) 256,852 1/1 0/0 0/0 0/0 0/0 0/0 1/1
SHEbAO| B2, 2FEHEH(BPF) H 256,852 / 256,852 0/0 0/0 0/0 0/0 0/0 0/0
22-06-0-00000400-3-0 |F D22!,400mm 5,610 7/7 0/0 0/0 0/0 0/0 3/3 0/0
SElOIE R 2R HE RS H 39,270 / 39,270 4/ 4 0/0 0/0 0/0 0/0 0/0
22-07-2-00000080-3-0 |80mm 18,570 6/6 0/0 0/0 0/0 0/0 6/6 0/0
SHEFOIE 2 0|2 XIS b 111,420 / 111,420 0/0 0/0 0/0 0/0 0/0 0/0
22-07-2-00000100-3-0 |100mm 19,410 20/ 20 0/0 0/0 0/0 0/0 0/0 0/0
SIELAOIE R, 01 S Y N2 E o 388,200 / 388,200 20/ 20 0/0 0/0 0/0 0/0 0/0
22-07-2-00000150-3-0 |150rnm 24,700 19 /19 0/0 0/0 0/0 0/0 0/0 0/0
SIElAOIE 2, 01 SN2 E H 469,300 / 469,300 19 /19 0/0 0/0 0/0 0/0 0/0
22-07-2-00000200-3-0 |200mm 31,950 15/ 15 0/0 0/0 0/0 0/0 15/ 15 0/0
SHELAOIE R 0| SE N2 E H 479,250 / 479,250 0/0 0/0 0/0 0/0 0/0 0/0
22-07-2-00000400-3-0 |400mm 91,000 63 / 63 0/0 0/0 0/0 21 / 21 21 / 21 21/ 21
SHELAOIE R Ol SN2 E H 5,733,000 / 5,733,000 0/0 0/0 0/0 0/0 0/0 0/0
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22-07-2-00000500-3-0 |500mm 155,980 6/6 0/0 0/0 0/0

% SEtLOIE 2 01 EL XA E H 935,880 / 935,830 6/6 0/0 0/0
22-08-0-00000080-3-0 |O|%1J80mm(EIDHE?:.) 32,085 2/ 2 0/0 0/0 0/0

33 SHEL0IE 2 K.POI S2 (BPF) N 64,170 / 64,170 0/0 0/0 0/0
22-08-0-00000100-3-0 |O|%EHOOmm(DDHE§.) 38,985 4/ 4 0/0 0/0 0/0

34 SHEL0IE 2 K.POI S2 (BPF) N 155,940 / 155,940 4/ 4 0/0 0/0
22-08-0-00000150-3-0 |O|%3J150mm(DDHE§.*) 60,030 0/3 0/0 0/0 0/0

3 SEt Ol E 2 K. POl S2(BPF) H 0 / 180,090 0/3 0/0 0/0
22-08-0-00000200-3-0 |O|§1J200mm(DDHE§.*) 81,075 5/5 0/0 0/0 0/0

% SEt Ol E 2 K. POl S2(BPF) H 405,375 / 405,375 0/0 0/0 0/0
22-08-0-00000400-3-0 |400mm(DDHE§.‘) 213,900 2 /22 0/0 0/0 0/0

37 SEt Ol E 2 K.POI S2(BPF) N 4,705,800 / 4,705,800 0/0 0/0 0/0
22-08-0-00000500-3-0 |500mm(EIDHE§.‘) 310,500 4/ 4 0/0 0/0 0/0

38 SEH0IE 2 K.POI S2 (BPF) H 1,242,000 / 1,242,000 4/ 4 0/0 0/0
22-09-0-06500080-3-0 |80*L65O (1F &2t) (0HH= 41,986 1/ 1 0/0 0/0 0/0

39 SEFL Ol E 2, 1FEH2H(L650) (BPF) H 41,986 / 41,986 0/0 0/0 0/0
22-09-0-06500100-3-0 |100*L650 (1FEtat) (0PN = 51,094 0/5 0/0 0/0 0/0

40 SEFL Ol E 2, 1FEH2H(L650) (BPF) H 0 / 255,470 0/5 0/0 0/0
22-09-0-06500400-3-0 |400*L650 (1FEtat) (OPH = 243,915 5/5 0/0 0/0 0/0

41 SEFL O E 2, IFEH2H(L650) (BPF) H 1,219,575 / 1,219,575 0/0 0/0 0/0
22-10-A-02000100-3-0 |A§§,200*100mm(DDHE§H 75,900 1/ 1 0/0 0/0 0/0

42 SHEL0IE 2, K.PAZIESE2H(BPF) H 75,900 / 75,900 1/ 1 0/0 0/0
22-12-A-01000090-3-0 |A§3,100mm *90(OHIHEE) 41,055 3/8 0/0 0/0 0/0

43 et ol E 2, Sl X =2 (BPF) N 123,165 / 328,440 3/3 0/5 0/0
22-14-0-00000080-3-0 |80mm 2,090 1/ 1 0/0 0/0 0/0

44 SEt20IEg2, EHOIEDNRE N 2,09 / 2,090 1/1 0/0 0/0
22-14-0-00000200-3-0 |200rnm 4,810 1/1 0/0 0/0 0/0

4 SEt0IE 2, EHOIEDNRY N 4,810 / 4,810 1/ 1 0/0 0/0
22-14-0-00000400-3-0 |400mm 11,450 3/3 0/0 0/0 0/0

40 SEtL0IEg2, EIOIELNRE H 34,350 / 34,350 0/0 0/0 0/0
22-15-0-00000080-3-0 |80mm, JIErE (0N EE) 30,360 1/1 0/0 0/0 0/0

47 SEt0IE 2, SelXA302(BPF) H 30,360 / 30,360 1/ 1 0/0 0/0
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22-15-0-00000100-3-0 |100mm,J|E+§(D+JH£§,*) 35,880 0/3 0/0 0/0 0/0 0/0

48 SIEIUOIE 2, Z2IX| A3 2H(BPF) H 0 / 107,640 0/3 0/0 0/0 0/0
22-15-0-00000400-3-0 |400mm,J|E+§§(DDH£§:) 201,825 717 0/0 0/0 0/0 1/ 1

49 SEI0IE2, ZRIRIA3N2 H 1,412,775 / 1,412,775 4/ 4 0/0 0/0 0/0
31-01-3-00000080-3-0 |_J>_E & ,80mm 137,538 5/5 0/0 0/0 0/0 0/0

50 Mgy H 687,690 / 687,690 5/5 0/0 0/0 0/0
31-01-3-00000100-3-0 |i£§2,100mm 171,219 5/5 0/0 0/0 0/0 0/0

o =] H 856,095 / 856,095 5/5 0/0 0/0 0/0
31-01-3-00000150-3-0 |¢EEZ,150mm 337,613 5/5 0/0 0/0 0/0 0/0

52 Ao H 1,688,065 / 1,688,065 5/5 0/0 0/0 0/0
31-01-3-00000200-3-0 |ﬁ\_EEZ,ZOOmm 473,040 5/5 0/0 0/0 0/0 0/0

53 MLcuy H 2,365,200 / 2,365,200 5/5 0/0 0/0 0/0
31-01-3-00000250-3-0 |¢EE;,250mm 689,804 5/5 0/0 0/0 0/0 0/0

54 ALy H 3,449,020 / 3,449,020 5/5 0/0 0/0 0/0
31-01-3-00000300-3-0 |_/.\_E§Z,300mm 820,607 5/5 0/0 0/0 0/0 0/0

55 ALcusy H 4,103,035 / 4,103,035 5/5 0/0 0/0 0/0
31-01-3-00000400-3-0 |ﬁ:£§2 400mm 1,692,590 717 0/0 0/0 0/0 3/3

5 ALcusg H 11,848,130 / 11,848,130 1/1 0/0 0/0 0/0
31-03-F-00000200-3-0 |ug5¢£§g 200mm 1,022,441 2/2 0/0 0/0 0/0 0/0

S Aoy H 2,044,882 / 2,044,882 2/2 0/0 0/0 0/0
32-03-C-00000100-3-0 |J(|MAI 2 BHE ), 100mm 546,270 5/5 0/0 0/0 0/0 5/5

58 EL2CUWY, 29|45 H 2,731,350 / 2,731,350 0/0 0/0 0/0 0/0
32-03-D-00000100-3-0 |I|8+A4,100mm 281,960 5/5 0/0 0/0 0/0 5/5

59 E4L2CUWY, 29/A5H H 1,409,800 / 1,409,800 0/0 0/0 0/0 0/0
41-01-0-00000648-4-0 |I1\#“E“E%,MZ*F’:*’S,D648mm><H250mm 335,501 15/ 15 0/0 0/0 0/0 0/0

60 AN B 5,032,515 / 5,082,515 15/ 15 0/0 0/0 0/0
41-01-0-01000648-4-0 |xﬂ¢gég,%gg§ 0648mm > H250mm 239,210 15/ 15 0/0 0/0 0/0 2/2

61 A E | B 3,588,150 / 3,588, 150 0/0 0/0 5/5 0/0
41-01-0-03180410-4-0 |318><410, Hage =33 279,400 2/2 0/0 0/0 0/0 0/0

62 A EN = 558,800 / 558,800 0/0 0/0 0/0 0/0
41-01-0-03180560-4-0 |318><560, Hage =33 301,046 2/2 0/0 0/0 0/0 0/0

63 A EN = 602,092 / 602,092 0/0 0/0 0/0 0/0
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e A2 E | = Gkt E2(H/F) 1B (N/F) (2852 (H/F) |32 (H/F) [422(H/F) [242(H/F) |68

- A4 E = Z2U(H/Z) TR (H/F) |8 (H/F) [9RS(H/=) [I042(H/2)|1NFS(H/=) 1284
41-01-1-00000648-4-0 S|SWER ARIEE D648 X H250m 333,700 5/5 0/0 0/0 0/0 0/0 0/0
A HIN = 1,668,500 / 1,668,500 5/5 0/0 0/0 0/0 0/0
41-01-1-01000648-4-0 |5|¢ﬂaﬂzg,%@%+§,0648mmx%omm 239,210 4/4 0/0 0/0 0/0 0/0 0/0
AN = 956,840 / 956,840 0/0 0/0 2/2 2/2 0/0
41-01-1-03180410-4-0 |318><410, El4UE =AY 277,900 2/2 0/0 0/0 0/0 0/0 0/0
AN = 555,800 / 555,800 1/1 0/0 0/0 0/0 0/0
41-01-2-01000648-4-0 |i@ﬁ%,%%?’:’é‘,DMSmmXHﬁOmm 242,880 10/ 10 0/0 0/0 0/0 0/0 0/0
2SN EN 2,428,800 / 2,428,800 5/5 0/0 0/0 0/0 0/0
41-01-2-20000648-3-0 WEAMDNHY AT, Z)|HER 395,000 5/5 0/0 0/0 0/0 0/0 0/0
A EN = 1,975,000 / 1,975,000 0/0 0/0 0/0 0/0 0/0
41-01-B-00000648-4-0 |J+tﬂ§§£ Hage 2 25 e 375,000 4/4 0/0 0/0 0/0 1/1 2/2
A EN = 1,500,000 / 1,500,000 0/0 0/0 0/0 0/0 0/0
41-01-B-10000648-4-0 |3+E‘4§§E HEgE 2 AR2EE 419,600 3/3 0/0 0/0 0/0 3/3 0/0
A EN = 1,258,800 / 1,258,800 0/0 0/0 0/0 0/0 0/0
41-01-D-10000648-4-0 |3rtﬂ§§£ B UES AEE 419,600 2/2 0/0 0/0 0/0 0/0 0/0
A EN = 839,200 / 839,200 0/0 0/0 0/0 0/0 0/0
1,197 0 0 100 10 w2
& A (") 8,315,034 189 6 7 14 0
- 1,29 0 0 100 10 3w
& A (=) 87,609,057 276 1 7 14 0




